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No.| B[ TE [2nl 2 5 D SRS Phie/A-5" -
1| 8A7H|A&x 58 [M90-1500m SR BE | 1| 1| 11:10.32 BN #B(92) |T=(T%)
2| 8A7H|[ -2 HAGEER | BB [M90-|/\> ¥ —1%(3.0kg) ROB |11 20m95 BE ZF[#E91) [MARMARAR)
3| 8A7H|[¥ - HAG#® | BB [M90-|E==£3%17(5.45kg) ROB |11 8m55 BE ZF[#E91) [MARMARAKR)
4| BH7H|AE%5H 58 [M85-]400m R BB | 1| 1| 1:44.05 TIHRE %(86) |T&=(TE)
5| 8H7H|X=5cExk BB [M85-| Eadk BB 1] 1 3m21#0.9m/s|—38 1E58(85) |[#MENI(FERI)
6| 8H7H|X=Ex £ (M80-{3000m ROBS | 1] 1] 13:38.19 e Ih(81) B3I (IA)
AR 58 [M75-60m R OB | 1| 1 8.86[r0.6m/s|FiE BEkR(/5) |Bre(Brs)
8| SH7H[AE%5H® 58 [M75-100m R OB | 1| 1 14.02[r1.8m/s|FE BER(7/5) |EFm(Fr)
o] 8H7H| A&7 B [M75-/\>~<—3%(4.0kg) R B | 1| 1| 32m22 N B_(75) | T=(T=)
10| 8A7H|ASxt E[M65-/\>~—3%(5.0kg) | R B | 1| 1| 38m33 R =mBE(67) |T=(T=)
11| 8H7H|X=ac#x & [M60-200m h-A | 1] 1 26.12[-2.1m/s| Al 7&(61) [#NIEsI)
12| 8A7H|AEx&% 58 [M60-]200m A% | 1| 2 26.32|-2.1m/s|ERE_51(60) |RR(E=R)
13| 8HA7H|X&=35CExk £ [M60-/400m ROB |11 59.14 AlE  FE(60) |[#SI1(EsI)
14| 8A7H|X&EH& 5 M55 #&=k BB 1] 1 3m60 BA XiE(55) | RMEIR)
15| 8A7H|A=%5icix |5 M55 &=k &R 1] 2 3m40 NNE 5%(58) [BEEHE)
16| 8SH/H|[AZi& F[M55]/\°><—3%(6.0kg) |:& B | 1| 1| 40m61 REh 2(59) |BE(AE)
17| 8A7H|A&x5= 58 [M50-]400m R OBE | 1] 1 55.10 TEE—B(52) | T=(TE)
18| 8H7H|X&=35dExk 55 |M50-| F928#%(1.5kg) ROB |11 43m41 XA BE(52) [RBE(LE)
19| 8A7H|A&x5 E[M4A0]/\>~—3%(7.26kg) [ R B | 1| 1| 24m96 =% Bim(43) | TE(TE)
20| 8H7H|AE0%5: 58 [M35-1500m R B5 | 1| 1| 4:10.31 B BN(38) | T=(TE)
21| 8H7H|A=iE B [M35-|#&E=k OB 1] 1 4m31 TE RER7) |[ERER)
22| 8H7H|AE0%5 5 [M30-[¥ D ¥&(8009) R B | 1| 1| 52m45 BR E(30) |[T=(TE)
23| 8H7H|AE0%5R 5 [M30-[¥ D ¥%(8009) R OB | 1| 2| 44mid TR IAM(30) |[T=(TE)
24| 8B7H|[YA-A HAacax | 3B |M30-|EE7%(15.88Kkq) R B5 | 1| 1| 13m83 Al BE(3L) [B2R(ERn)
25| 8A7H|X&& B1M25-100m A4h-2 | 1] 1 10.96}+0.2m/s|evvi=r s=mien | FE=FRR/)
26| 8H7H|¥A9-2" HARGE# | 55 |M25-{200m OB 1] 1 21.62[-0.6m/s|euri=r s=oien [ FEFRR/)
RECER
27| 8H7H|AE&0%5R 58 [M25-]200m R OB | 1] 2 22.59[-0.6m/s| KK m(25) |WoA(IA)
28| 8H7H|A=:x &8 [M25-/1500m RO | 1] 1| 4:08.20 fE RIE(29) SIS
29| 8H7H|AE&0%5x 58 [M25-]3000mW SR BB | 1| 1| 14:06.38 R XPFE(27) | 7= (TE)
30| 8H7H|AE0%x 58 [M-24[110mH R OBE | 1] 1 18.04[-1.1m/s|[ K &E(24) | TE=(T&E)
31| 8H7H|A= % 27 (W90-{100m BB 1] 1 23.63[-1.2m/s|&EE HET(91)|RR(ER)
32| 8A7HYA-X" HAGC#® | Z2[W90-{200m BB 1] 1 53.35(-0.2m/s|&E#E BETFO1)|ER(ER)
YA9-2" BARGCE#R
33| 8H7H|AE0%ER Z[W80{60m R OBE| 1] 1 11.95[-0.1m/s[/BE K (80) |T=(T&=)
34| 8B7H|[YA-A HAacE | & |W80{3000mW Sk BB | 1| 1| 22:42.00 A 9%(80) | T&(TE)
SECER
35| 8H7H|ASREH 7 [W45{ %1% (1.0kg) ROB | 1] 1] 30mi2 £F #®BF(45) [BEBEEE)
36| 8H7H| A& % [W40{800m SR OB5 | 1| 1| 2:28.92 TB B7(40) |[T=(TE)
37| 8B7H|AX= % 27 |W35{hg*1.3%(4.0kg) ROB | 1] 1 9m69 parEp  SORER(38) [ TE(TE)
38| 8H7H|AE0%5R Z[W25{100m R OBE| 1] 1 12.99[r0.6m/s|FEE E#2(26) |ILA(ILET)
39| 8A7H|[YAY-A" ARG #® | &L |[W25{E=£1%17F(9.08kg) RO | 1] 1 10m83 2E E£B(28) [TE(TE)




